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Time, Timetables & Speed

G.07 G.05

Questions involving time are often badly answered in GCSE exams.

This is because students use non-calculator addition and subtraction methods learned for
use with the decimal number system (H, T, U, etc) with time. This follows a different
number system (60 sec in 1 minute, 60 min in 1 hour, 24 hours in 1 day, etc), so methods
involving ‘carrying’ and ‘borrowing’ don’t work in the same way.

e For example, in decimal
o | buy two items costing £6.53 and £1.48, how much have | spent?
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£90!
o How much ch'ange do | get from £10 1\21 %S?,O
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e Butintime
o Ifitis 0653 now, what time will it be in 1 hour and 48 minutes?
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o and how much time will then elapse until 10007
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When working with time questions, drawing a time line is often helpful. e
If the question allows you to use a calculator, learn to use the time button G"’
So for the previous question the button presses would be:
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GCSE Maths Paper 2 PPQ (Calc OK)

fa) What is the difference between the following times?
'‘07:30 on 15t November 2017° and '13:20 on 3rd November 2017°
Give your answer in days, hours and minutes. [2]
030 1 033 1n o¥o 3
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(b) Divide 16 hours 20 minutes by 5.

Give your answer in hours and minutes. [2]
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GCSE Numeracy Paper 2 PPQ (Calc OK)
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Bus timetable from Orme Station to Outlet Village
Only 55 minutes from Orme Station direct to Outlet Village.
Buses leave the station

+  every 12 minutes from 8 a.m. until 12 noon
+  every 24 minutes from 12 noon until 10 p.m.

At what time does the first bus after 09:00 leave Orme Station?
Circle your answer. [1]

09:05 09:12 09:18 09:24 09:30

-

Gwil looks at the timetable shown above.
He decides to take the latest possible bus to be at Qutlet Village by 15:00.

At what time will Gwil arrive at Outlet Village?
You must show all your working. [2]
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G.07 G.05
Timetables

Often appear on a non-calculator paper. Use a timeline and if the journey has more than
one stage DO NOT ASSUME they move directly from one stage to another without time
passing waiting for the next departure.

GCSE Maths Paper 1 PPQ (non-Calc)

Below are parts of twae trann tnse-Lables.

Swansea Lo Bristol Parkway \L
Swinsea 10:28 10:55 1128 11:55
Neath 13y 11:08 11:39 1203
L —
S| Port Talbot 47 THE 47 (212
Bridgend 10:59 @ 11-59 12:25
Cardilf 11:22 [ 147 12:22 12:47
Newport 11:39 & [2:08 12:39 13:08
Bristol Parkway 11:59 1230 12:59 1330
Bristol Parkway to ShefTicld J/
Bristol Parkway 1140 12:40 13:40 14:40
Cheltenham 1210 13:12 1410 15:11
e |
—3| Birmingham 13:03 13:58 @ 15:59 |
Derby [3:42 L4400 1539 16:40)
ShelTield 14:17 15:18 16:17 17:19

far Sophie gets on the 10255 from Swansea al Bnidgend and gets ofTat Newpaort,
How leng should her journey take?

[1:25  [1:3 L0 ey
L_ﬁ J u A/ . .
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by Duvad lives in Port Talbot and needs to get to Birmingham by hall past three in the
alternooen.

it} What s the latest train he can eateh from Pert Talbot 1o do this?

| -2 |

i) How long should he have to wait at Bristol Parkway?

(1



G.07 G.05

The Tellowmng ure paris of rail timetables between Swindon and Coventry and between
Coventry and Durham.

Swindon 14:29 15:29 16:19 17:39 18:29
AITIVE 1500 L6:00 17:00 17:55 19:01
Reading <
; depart 15:11 [6:11 17:11 [%:11 1ol
Coventry Qb:.’fl ) 17:23 18:22 19:22 20:25
pr— _ S
Coventry 16:27 16:49 b 527 Q?:il‘?} 1549
arrive 1648 17:16 1748 I8:17 19:17
Birmingham
depart (X 17:30 [8:03 18:30 930
Durham 332 200:3G 21:25 2134 2230

Yo Denise catches the 13:29 train rom Swindon 1o Coventn
How long does the journey 1ake?

17:29 130 1600 1Fe2 LD
Aibin = 8 Yrag'n A e

t
1 54 pi
[
<o Johnarnves at Reading station at 1435,
He trasels on the next train to Coventry for a meeting which. including the walk 10 and
from the station. takes a total of | hour 20 nunutes.

He then catches the nest traim we Durham.
When dees he arvive at Durham?

Amiv» @ Cpuentry  [621 o
hade @ stakoon L 10ma = [
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G Inbs Dorkow @ 21:39
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G.07 G.05
Time Zones

GCSE Numeracy Paper 1 PPQ (non-Calc)

When it is 21:30 on a Tuesday in London, itis 02:30 on a Wednesday in Dhaka. Bangladesh.

It takes 10 hours 30 minutes to fly from Dhaka to London.
A flight leaves Dhaka on Thursday at 13.00 local Dhaka time.

On what day and at what time should this flight arrive in London?
Give your answer in local London time. [4]
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Arrival in Londan:




G.07 G.05

6. The timetable for a flight from London to Beijing is shown.

Departure from London 5 August 20:25
Arrival in Beijing 6 August 13:10

When it is 1pm in London, it is 8pm in Beijing.

How long should the journey take?
Give your answer in hours and minutes.

Show your working.

77»'4«5 @[’ﬁéﬂ—éﬂ(é T houn .
o 13lo ggbjhjhm = 0610 Londs bire



G.07 G.05
Average Speed and Decimal Time

Another aspect where things go wrong!

For example

e Write 4 hours 15 minutes as a decimal value

LHT>< 40T

If this is asked on a Paper 2, once again the time button is your friend!
The button presses would be

Then pressing [ 1.4 again will turn the time to decimal and back again as you
repeatedly press the button.

Average speed = Total Distance of journey + total decimal time of journey
Which can also be remembered as:

v
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G.07 G.05
GCSE Numeracy Paper 2 PPQ (Calc OK)

fa) 'Whatis 3 hours 12 minutes in hours?
Circle your answer. [1]

3102 hours 312 hours 315 hours -2 ho@\ 3-25 hours

{b) The first 40 miles of a journey took 1 hour 15 minutes.
The remaining 80 miles were completed in 2 hours 15 minutes.
Calculate the average speed, in mph, of the 120-mile journey. [3]

\
\

GCSE Numeracy Paper 2 PPQ (Calc OK)

Glenda plans to drive from Flint to Cardiff.
On a long journey, her average speed is usually 42 mph.
Last time she drove from Flint to Cardiff it took her 3% hours.

fa) Use this information to calculate the distance between Flint and Cardiff. [2]

.................... miles

(b) Give a possible reason why your answer in (a) is only an estimate of the distance hetween
Flint and Cardiff. [1]
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